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OetLSEHIXA 5,0002! +20,0005 %20/ 100 20,000
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J| 4,000

308 XXIEHXMSOIA 4,000 12,000 A 8,000
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1,800 *150, 0007 %24/ 100 64,800
HEHS MR ALY 192,000 216,000 A 24,000
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3,000,000 *80CH*25/100 60,000




SN EL4FYD
M SAALTA (SHHSSL/SY - SE)
S EAAE ALY (9l &2)
SM-EH . C(BH) - HRAY - B2 Ofl AF o4 glggf; HRs2
DHAET A A A
30,000,000 =107 £ %30/ 100 90,000
OSASIISEIIX AL 236,000
SRS 2 4,723,575 2,732,374 1,991,201
| 3,590,117
= 1,133,458
cEANESS 459,000 436,326 22,674
| 275,400
= 183,600
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| 1,946,175
= 250,223
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Ostuesaald 2,196,398
| 1,946,175
= 250,223
A I101E 1,645,977 200,000 1,445,977
| 1,368,542
= 277,435
308 XXIEHHSOIE 1,645,977 0 1,645,977
| 1,368,542
& 277,435
01 AUXSHBAEXZ 1,645,977 0 1,645,977
OMD21018 =& 1,645,977
I 1,368,542




SN ENBYD
A SMNASLFAL(SHHYLM/5Y - 5E)
ool ZNSRSHE (9l &2)
_ _ SIEN
SAN-ZH-SA(FA) - NFAY - BES Ol &+ 9K Ofl At ot HwsZ
= 277,435
ZN2REEYS 50,000 0 50,000
403 THXISHSKHZO0IR 50,000 0 50,000
01 NXSHHAELE 50,000 0 50,000
O SAIRE TR0 AI LT
250,000, 0002 * 17 2 +20/ 100 50,000
NN 179,200 18,320 160,880
308 RXIEHHSOIH 79,200 18,320 60,880
01 KASHILRES 79,200 18,320 60,880
OSMSEACHE IR 2
4,000, 0002 +165 £ x30/100 19,200
OASEALX
50,0002 *4,0007H 2 *30/ 100 60,000
403 THXISHSKHZO0IR 100,000 0 100,000
01 XXCSHT=EE 100,000 0 100,000
CISRMH 1 Al & I 2
1,000,000, 0002 *17H 4#10/100 100,000
Y= X2 193,000 202,000 29,000
403 THXISHHSKHZO0IR 193,000 187,000 6,000
01 NXSHHAEDE 193,000 187,000 6,000
ORAZS AL AT
40,000, 0002 x20CH %20/ 100 160,000
ORASUMZS SR
110,000, 0002 * 1 Al £330/ 100 33,000
p[EFIE NS 8,604,268 7,661,558 1,082,730
= 3,242,840
| 2,337,062
= 3,114,386
S EEL ELENE Y 256,000 273,067 A17,067
= 179,200
= 76,800
206 T2l 256,000 273,067 ~17,067
= 179,200
= 76,800
ST 256,000 273,067 A17,067
BEDEEEIEEEL 256,000
2 79,200




SN SABYD
HE: SAUTAY (SRHSLM/EY - SE)
CHol: ObE oAb (S92l
SN I SRI(S) - NRAY - B 01l &t o Soe B RS2
= 76,800
IIEEIAZ AU (OIFEY) 2,618,142 2,124,034 494,108
= 2,133,340
= 484,802
308 NXIHHSOIE 2,618,142 2,124,034 494,108
= 2,133,340
< 484,802
01 AXHHBAEXZ 2,618,142 2,124,034 494,108
ot =sgHrZ 22| 2,618,142
= 2,133,340
< 484,802
ABE2HAHNE EHH (IIFEA) 1,224,510 674,730 549,780
= 720,300
= 504,210
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